Chapter 17 Business Valuations
Answer 1

(a)(i)
Price/earnings ratio method valuation

Earnings per share of Danoca Co = 40c

Average sector price/earnings ratio = 10

Implied value of ordinary share of Danoca Co = 40 x 10 = $4·00

Number of ordinary shares = 5 million

Value of Danoca Co = 4·00 x 5m = $20 million
[2 marks]
(a)(ii)

Dividend growth model

Earnings per share of Danoca Co = 40c

Proposed payout ratio = 60%

Proposed dividend of Danoca Co is therefore = 40 x 0·6 = 24c per share
[1 mark]
If the future dividend growth rate is expected to continue the historical trend in dividends per share, the historic dividend growth rate can be used as a substitute for the expected future dividend growth rate in the dividend growth model. Average geometric dividend growth rate over the last two years = (24/ 22)1/2 = 1·045 or 4·5%

(Alternatively, dividend growth rates over the last two years were 3% (24/23·3) and 6% (23·3/22), with an arithmetic average of (6 + 3)/2 = 4·5%)
[1 mark]
Cost of equity of Danoca Co using the capital asset pricing model (CAPM)

= 4·6 + 1·4 x (10·6 – 4·6) = 4·6 + (1·4 x 6) = 13%
[1 mark]
Value of ordinary share from dividend growth model = (24 x 1·045)/(0·13 – 0·045) = $2·95

Value of Danoca Co = 2·95 x 5m = $14·75 million
[2 marks]
Discussion:

1.
The current market capitalisation of Danoca Co is $16·5m ($3·30 x 5m).The price/earnings ratio value of Danoca Co is higher than this at $20m, using the average price/earnings ratio used for the sector.
2.
Danoca’s own price/earnings ratio is 8·25. The difference between the two price/earnings ratios may indicate that there is scope for improving the financial performance of Danoca Co following the acquisition. If Phobis Co has the managerial skills to effect this improvement, the company and its shareholders may be able to benefit as a result of the acquisition.
3.
The dividend growth model value is lower than the current market capitalisation at $14·75m. This represents a minimum value that Danoca shareholders will accept if Phobis Co makes an offer to buy their shares. In reality they would want more than this as an inducement to sell.
4.
The current market capitalisation of Danoca Co of $16m may reflect the belief of the stock market that a takeover bid for the company is imminent and, depending on its efficiency, may indicate a fair price for Danoca’s shares, at least on a marginal trading basis.
5.
Alternatively, either the cost of equity or the expected dividend growth rate used in the dividend growth model calculation could be inaccurate, or the difference between the two values may be due to a degree of inefficiency in the stock market.

[4 marks]
(b)
Calculation of market value of each convertible bond

Expected share price in five years’ time = 4·45 x 1·0655 = $6·10

Conversion value = 6·10 x 20 = $122
[1 mark]
Compared with redemption at par value of $100, conversion will be preferred

The current market value will be the present value of future interest payments, plus the present value of the conversion value, discounted at the cost of debt of 7% per year.

Market value of each convertible bond = (9 x 4·100) + (122 x 0·713) = $123·89

[2 marks]
Calculation of floor value of each convertible bond

The current floor value will be the present value of future interest payments, plus the present value of the redemption value, discounted at the cost of debt of 7% per year.

Floor value of each convertible bond = (9 x 4·100) + (100 x 0·713) = $108·20

[2 marks]
Calculation of conversion premium of each convertible bond

Current conversion value = 4·45 x 20 = $89·00

Conversion premium = $123·89 – 89·00 = $34·89

This is often expressed on a per share basis, i.e. 34·89/20 = $1·75 per share

[1 mark]
(c)

Weak form efficiency:

1.
Stock market efficiency usually refers to the way in which the prices of traded financial securities reflect relevant information. When research indicates that share prices fully and fairly reflect past information, a stock market is described as weak-form efficient.
2.
Investors cannot generate abnormal returns by analysing past information, such as share price movements in previous time periods, in such a market, since research shows that there is no correlation between share price movements in successive periods of time. Share prices appear to follow a ‘random walk’ by responding to new information as it becomes available.

[1 – 2 marks]
Semi-strong from:
1.
When research indicates that share prices fully and fairly reflect public information as well as past information, a stock market is described as semi-strong form efficient.
2.
Investors cannot generate abnormal returns by analysing either public information, such as published company reports, or past information, since research shows that share prices respond quickly and accurately to new information as it becomes publicly available.

[1 – 2 marks]
Strong from:
1.
If research indicates that share prices fully and fairly reflect not only public information and past information, but private information as well, a stock market is described as strong form efficient. 
2.
Even investors with access to insider information cannot generate abnormal returns in such a market. Testing for strong form efficiency is indirect in nature, examining for example the performance of expert analysts such as fund managers. Stock markets are not held to be strong form efficient.

[1 – 2 marks]
Significance of semi-strong form efficiency:
1.
The significance to a listed company of its shares being traded on a stock market which is found to be semi-strong form efficient is that any information relating to the company is quickly and accurately reflected in its share price.
2.
Managers will not be able to deceive the market by the timing or presentation of new information, such as annual reports or analysts’ briefings, since the market processes the information quickly and accurately to produce fair prices.
3.
Managers should therefore simply concentrate on making financial decisions which increase the wealth of shareholders.

[2 – 3 marks]
ACCA Marking Scheme
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Answer 2
(a)

Calculation of share price

THP Co dividend per share = 64 x 0·5 = 32c per share
[1 mark]
Share price of THP Co = (32 x 1·05)/(0·12 – 0·05) = $4·80
[2 marks]
Market capitalisation of THP Co = 4·80 x 3m = $14·4m
[1 mark]
(b)

Rights issue price

This is at a 20% discount to the current share price = 4·80 x 0·8 = $3·84 per share

[1 mark]
New shares issued = 3m/3 = 1m

Cash raised = 1m x 3·84 = $3,840,000
[1 mark]
Theoretical ex rights price = [(3 x 4·80) + 3·84]/4 = $4·56 per share
[1 mark]
Market capitalisation after rights issue = 14·4m + 3·84m = $18·24 – 0·32m = $17·92m

This is equivalent to a share price of 17·92/4 = $4·48 per share
[2 marks]
The issue costs result in a decrease in the market value of the company and therefore a decrease in the wealth of shareholders equivalent to 8c per share.
(c)

Price/earnings ratio valuation

Price/earnings ratio of THP Co = 480/64 = 7·5
[1 mark]
Earnings per share of CRX Co = 44·8c per share

Using the price earnings ratio method, share price of CRX Co = (44·8 x 7·5)/100 = $3·36

Market capitalisation of CRX Co = 3·36 x 1m = $3,360,000
[2 marks]
(Alternatively, earnings of CRX Co = 1m x 0·448 = $448,000 x 7·5 = $3,360,000)
(d)(i)
1.
In a semi-strong form efficient capital market, share prices reflect past and public information. If the expected annual after-tax savings are not announced, this information will not therefore be reflected in the share price of THP Co.
2.
In this case, the post acquisition market capitalisation of THP Co will be the market capitalisation after the rights issue, plus the market capitalisation of the acquired company (CRX Co), less the price paid for the shares of CRX Co, since this cash has left the company in exchange for purchased shares. It is assumed that the market capitalisations calculated in earlier parts of this question are fair values, including the value of CRX Co calculated by the price/earnings ratio method.
Price paid for CRX Co = 3·84m – 0·32m = $3·52m

Market capitalisation = 17·92m + 3·36m – 3·52m = $17·76m

This is equivalent to a share price of 17·76/4 = $4·44 per share
3.
The market capitalisation has decreased from the value following the rights issue because THP Co has paid $3·52m for a company apparently worth $3·36m. This is a further decrease in the wealth of shareholders, following on from the issue costs of the rights issue.
(d)(ii)

1.
If the annual after-tax savings are announced, this information will be reflected quickly and accurately in the share price of THP Co since the capital market is semi-strong form efficient.
2.
The savings can be valued using the price/earnings ratio method as having a present value of $720,000 (7·5 x 96,000). The revised market capitalisation of THP Co is therefore $18·48m (17·76m + 0·72m), equivalent to a share price of $4·62 per share (18·48/4).
3.
This makes the acquisition of CRX Co attractive to the shareholders of THP Co, since it offers a higher market capitalisation than the one following the rights issue. Each shareholder of THP Co would experience a capital gain of 14c per share (4·62 – 4·48).
In practice, the capital market is likely to anticipate the annual after-tax savings before they are announced by THP Co.
(e)

There are a number of factors that should be considered by THP Co, including the following.
Gearing and financial risk

1.
Equity finance will decrease gearing and financial risk, while debt finance will increase them.
2.
Gearing for THP Co is currently 68·5% and this will decrease to 45% if equity finance is used, or rise to 121% if debt finance is used. There may also be some acquired debt finance in the capital structure of CRX Co. THP Co needs to consider what level of financial risk is desirable, from both a corporate and a stakeholder perspective.
Target capital structure

3.
THP Co needs to compare its capital structure after the acquisition with its target capital structure. If its primary financial objective is to maximise the wealth of shareholders, it should seek to minimise its weighted average cost of capital (WACC).
4.
In practical terms this can be achieved by having some debt in its capital structure, since debt is relatively cheaper than equity, while avoiding the extremes of too little gearing (WACC can be decreased further) or too much gearing (the company suffers from the costs of financial distress).
Availability of security

5.
Debt will usually need to be secured on assets by either a fixed charge (on specific assets) or a floating charge (on a specified class of assets). The amount of finance needed to buy CRX CO would need to be secured by a fixed charge to specific fixed assets of THP Co. Information on these fixed assets and on the secured status of the existing 8% loan notes has not been provided.
Economic expectations

6.
If THP Co expects buoyant economic conditions and increasing profitability in the future, it will be more prepared to take on fixed interest debt commitments than if it believes difficult trading conditions lie ahead.
Control issues

7.
A rights issue will not dilute existing patterns of ownership and control, unlike an issue of shares to new investors. The choice between offering new shares to existing shareholders and to new shareholders will depend in part on the amount of finance that is needed, with rights issues being used for medium-sized issues and issues to new shareholders being used for large issues. Issuing traded debt also has control implications however, since restrictive or negative covenants are usually written into the bond issue documents.
Workings

Current gearing (debt/equity, book value basis) = 100 x 5,000/7,300 = 68·5%

Gearing if equity finance is used = 100 x 5,000/(7,300 + 3,840) = 45%

Gearing if debt finance is used = 100 x (5,000 + 3,840)/7,300 = 121%
ACCA Marking Scheme
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Answer 3
(a)

Rights issue price = 2·5 x 0·8 = $2·00 per share
[1 mark]
Theoretical ex rights price = ((2·50 x 4) + (1 x 2·00)/5=$2·40 per share
[2 marks]
(Alternatively, number of rights shares issued = $5m/$2·00 = 2·5m shares

Existing number of shares = 4 x 2·5m = 10m shares

Theoretical ex rights price per share = ((10m x 2·50) + (2·5m x 2·00))/12·5m = $2·40)
(b)

Current price/earnings ratio = 250/32·4 = 7·7 times
[1 mark]
Average growth rate of earnings per share = 100 x ((32·4/27·7)0·25 – 1) = 4·0%

Earnings per share following expansion = 32·4 x 1·04 = 33·7 cents per share

[1 mark]
Share price predicted by price/earnings ratio method = 33·7 x 7·7 = $2·60
[1 mark]
Since the price/earnings ratio of Dartig Co has remained constant in recent years and the expansion is of existing business, it seems reasonable to apply the existing price/earnings ratio to the revised earnings per share value.
(c)

Discussion of share price comparisons:

1.
The proposed business expansion will be an acceptable use of the rights issue funds if it increases the wealth of the shareholders.
2.
The share price predicted by the price/earnings ratio method is $2·60. This is greater than the current share price of $2·50, but this is not a valid comparison, since it ignores the effect of the rights issue on the share price. The rights issue has a neutral effect on shareholder wealth, but the cum rights price is changed by the increase in the number of shares and by the transformation of cash wealth into security wealth from a shareholder point of view.
3.
The correct comparison is with the theoretical ex rights price, which was found earlier to be $2·40. Dartig Co shareholders will experience a capital gain due to the business expansion of $2·60 – 2·40 = 20 cents per share. However, these share prices are one year apart and hence not directly comparable.

[3 – 4 marks]
Calculation of effect on shareholder wealth and comment:

1.
If the dividend yield remains at 6% per year (100 x 15·0/250), the dividend per share for 2008 will be 15·6p (other estimates of the 2008 dividend per share are possible). Adding this to the capital gain of 20p gives a total shareholder return of 35·6p or 14·24% (100 x 35·6/240).
2.
This is greater than the cost of equity of 10% and so shareholder wealth has increased.

[1 – 2 marks]
(d)
In order to use the dividend growth model, the expected future dividend growth rate is needed. Here, it may be assumed that the historical trend of dividend per share payments will continue into the future. The geometric average historical dividend growth rate = 100 x ((15·0/12·8)0·25 – 1) = 4% per year.
[2 marks]
(Alternatively, the arithmetical average of annual dividend growth rates could be used. This will be (5·5 + 0·0 + 7·4 + 3·5)/4 = 4·1%. Another possibility is to use the Gordon growth model. The average payout ratio over the last 4 years has been 47%, so the average retention ratio has been 53%. Assuming that the cost of equity represents an acceptable return on shareholders’ funds, the dividend growth rate is approximately 53% x 10% = 5·3% per year.)
Using the formula for the dividend growth model from the formula sheet, the ex dividend share price = (15·0 x 1·04)/(0·1– 0·04) = $2·60
[2 marks]
Discussion:

1.
This is 10 cents per share more than the current share price of Dartig Co. There are several reasons why there may be a difference between the two share prices. The future dividend growth rate for example, may differ from the average historical dividend growth rate, and the current share price may factor in a more reasonable estimate of the future dividend growth rate than the 4% used here.
2.
The cost of equity of Dartig Co may not be exactly equal to 10%. More generally, there may be a degree of inefficiency in the capital market on which the shares of Dartig Co are traded.

[2 marks]
(e)
Discussion of agency problem:

1.
The primary financial management objective of a company is usually taken to be the maximisation of shareholder wealth. In practice, the managers of a company acting as agents for the principals (the shareholders) may act in ways which do not lead to shareholder wealth maximisation. The failure of managers to maximise shareholder wealth is referred to as the agency problem.
2.
Shareholder wealth increases through payment of dividends and through appreciation of share prices. Since share prices reflect the value placed by buyers on the right to receive future dividends, analysis of changes in shareholder wealth focuses on changes in share prices. The objective of maximising share prices is commonly used as a substitute objective for that of maximising shareholder wealth.
3.
The agency problem arises because the objectives of managers differ from those of shareholders: because there is a divorce or separation of ownership from control in modern companies; and because there is an asymmetry of information between shareholders and managers which prevents shareholders being aware of most managerial decisions.

[4 – 5 marks]
Discussion of share option schemes:
1.
One way to encourage managers to act in ways that increase shareholder wealth is to offer them share options. These are rights to buy shares on a future date at a price which is fixed when the share options are issued. Share options will encourage managers to make decisions that are likely to lead to share price increases (such as investing in projects with positive net present values), since this will increase the rewards they receive from share options. The higher the share price in the market when the share options are exercised, the greater will be the capital gain that could be made by managers owning the options.
2.
Share options therefore go some way towards reducing the differences between the objectives of shareholders and managers. However, it is possible that managers may be rewarded for poor performance if share prices in general are increasing. It is also possible that managers may not be rewarded for good performance if share prices in general are falling. It is difficult to decide on a share option exercise price and a share option exercise date that will encourage managers to focus on increasing shareholder wealth while still remaining challenging, rather than being easily achievable.

[4 – 5 marks]
ACCA Marking Scheme
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Answer 4
(a)

Weighted average cost of capital (WACC) calculation

Cost of equity of KFP Co = 4·0 + (1·2 x (10·5 – 4·0)) = 4·0 + 7·8 = 11·8% using the capital asset pricing model
[2 marks]
To calculate the after-tax cost of debt, linear interpolation is needed

After-tax interest payment = 100 x 0·07 x (1 – 0·3) = $4·90
[1 mark]
[image: image4.emf]
After-tax cost of debt = 5 + ((10 – 5) x 4·71)/(4·71 + 19·59) = 5 + 1·0 = 6·0%

[3 marks]
Number of shares issued by KFP Co = $15m/0·5 = 30 million shares

Market value of equity = 30m x 4·2 = $126 million
[1 mark]
Market value of bonds issued by KFP Co = 15m x 94·74/100 = $14·211 million

[1 mark]
Total value of company = 126 + 14·211 = $140·211 million

WACC = ((11·8 x 126) + (6·0 x 14·211))/140·211 = 11·2%
[2 marks]
(b)(i)
Price/earnings ratio method

Earnings per share of NGN = 80c per share

Price/earnings ratio of KFP Co = 8

Share price of NGN = 80 x 8 = 640c or $6·40

Number of ordinary shares of NGN = 5/0·5 = 10 million shares

Value of NGN = 6·40 x 10m = $64 million
[2 marks]
However, it can be argued that a reduction in the applied price/earnings ratio is needed as NGN is unlisted and therefore its shares are more difficult to buy and sell than those of a listed company such as KFP Co. If we reduce the applied price/earnings ratio by 10% (other similar percentage reductions would be acceptable), it becomes 7·2 times and the value of NGN would be (80/100) x 7·2 x 10m = $57·6 million
(b)(ii)

Dividend growth model

Dividend per share of NGN = 80c x 0·45 = 36c per share
[1 mark]
Since the payout ratio has been maintained for several years, recent earnings growth is the same as recent dividend growth, i.e. 4·5%. Assuming that this dividend growth continues in the future, the future dividend growth rate will be 4·5%.
Share price from dividend growth model = (36 x 1·045)/ (0·12 – 0·045) = 502c or $5·02

Value of NGN = 5·02 x 10m = $50·2 million
[3 marks]
(c)

A discussion of capital structure could start from recognising that equity is more expensive than debt because of the relative risk of the two sources of finance. Equity is riskier than debt and so equity is more expensive than debt. This does not depend on the tax efficiency of debt, since we can assume that no taxes exist. We can also assume that as a company gears up, it replaces equity with debt. This means that the company’s capital base remains constant and its weighted average cost of capital (WACC) is not affected by increasing investment.
Traditional view of capital structure:

1.
The traditional view of capital structure assumes a non-linear relationship between the cost of equity and financial risk. As a company gears up, there is initially very little increase in the cost of equity and the WACC decreases because the cost of debt is less than the cost of equity.
2.
A point is reached, however, where the cost of equity rises at a rate that exceeds the reduction effect of cheaper debt and the WACC starts to increase. In the traditional view, therefore, a minimum WACC exists and, as a result, a maximum value of the company arises.

[1 -2 marks]
M&M and capital structure:
3.
Modigliani and Miller assumed a perfect capital market and a linear relationship between the cost of equity and financial risk. They argued that, as a company geared up, the cost of equity increased at a rate that exactly cancelled out the reduction effect of cheaper debt. WACC was therefore constant at all levels of gearing and no optimal capital structure, where the value of the company was at a maximum, could be found.
4.
It was argued that the no-tax assumption made by Modigliani and Miller was unrealistic, since in the real world interest payments were an allowable expense in calculating taxable profit and so the effective cost of debt was reduced by its tax efficiency.
5.
They revised their model to include this tax effect and showed that, as a result, the WACC decreased in a linear fashion as a company geared up. The value of the company increased by the value of the ‘tax shield’ and an optimal capital structure would result by gearing up as much as possible.

[2 – 3 marks]
Market imperfections:
6.
It was pointed out that market imperfections associated with high levels of gearing, such as bankruptcy risk and agency costs, would limit the extent to which a company could gear up.
7.
In practice, therefore, it appears that companies can reduce their WACC by increasing gearing, while avoiding the financial distress that can arise at high levels of gearing.

[1 – 2 marks]
Other relevant discussion:
8.
It has further been suggested that companies choose the source of finance which, for one reason or another, is easiest for them to access (pecking order theory). This results in an initial preference for retained earnings, followed by a preference for debt before turning to equity.
9.
The view suggests that companies may not in practice seek to minimise their WACC (and consequently maximise company value and shareholder wealth).


[1 – 2 marks]
Comment on debt finance for cash offer:
10.
Turning to the suggestion that debt could be used to finance a cash bid for NGN, the current and post acquisition capital structures and their relative gearing levels should be considered, as well as the amount of debt finance that would be needed. Earlier calculations suggest that at least $58m would be needed, ignoring any premium paid to persuade target company shareholders to sell their shares. The current debt/equity ratio of KFP Co is 60% (15m/25m). The debt of the company would increase by $58m in order to finance the bid and by a further $20m after the acquisition, due to taking on the existing debt of NGN, giving a total of $93m. Ignoring other factors, the gearing would increase to 372% (93m/25m).
11.
KFP Co would need to consider how it could service this dangerously high level of gearing and deal with the significant risk of bankruptcy that it might create. It would also need to consider whether the benefits arising from the acquisition of NGN would compensate for the significant increase in financial risk and bankruptcy risk resulting from using debt finance.

[2 – 3 marks]
ACCA Marking Scheme
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Answer 5

(a)

Dividend yield is calculated as the dividend divided by the share price at the start of the year.

2008: dividend yield = 100 x 38·5/740 = 5·2%
[1 mark]
2009: dividend yield = 100 x 40·0/835 = 4·8%
[1 mark]
The capital gain is the difference between the opening and closing share prices, and may be expressed as a monetary amount or as a percentage of the opening share price.
2008: capital gain = 835 – 740 = 95c or 12·8% (100 x 95/740)
[1 mark]
2009: capital gain = 648 – 835 = (187c) or (22·4%) (100 x –187/835)
[1 mark]
The total shareholder return is the sum of the percentage capital gain and the dividend yield, or the sum of the dividend paid and the monetary capital gain, expressed as a percentage of the opening share price.
2008: total shareholder return = 100 x (95 + 38·5)/740 = 18·0% (5·2% + 12·8%)

[1 mark]
2009: total shareholder return = 100 x (–187 + 40)/835 = –17·6% (4·8% – 22·4%)

[1 mark]
(a)(i)

The return on equity predicted by the CAPM

1.
The actual return for a shareholder of QSX Co, calculated as total shareholder return, is very different from the return on equity predicted by the CAPM.
2.
In 2008 the company provided a better return than predicted and in 2009 the company gave a negative return while the CAPM predicted a positive return.
[image: image6.emf]
General discussion of returns:
3.
Because the risk-free rate of return is positive and the equity risk premium is either zero or positive, and because negative equity betas are very rare, the return on equity predicted by the CAPM is invariably positive.
4.
This reflects the reality that shareholders will always want a return to compensate for taking on risk. In practice, companies sometimes give negative returns, as is the case here. The return in 2008 was greater than the cost of equity, but the figure of 10% quoted here is the current cost of equity; the cost of equity may have been different in 2008.

[1 – 3 marks]
(a)(ii)
Other comments

1.
QSX Co had turnover growth of 3% in 2008, but did not generate any growth in turnover in 2009.
2.
Earnings per share grew by 4·1% in 2008, but fell by 8·3% in 2009.
3.
Dividends per share also grew by 4·1% in 2008, but unlike earnings per share, dividend per share growth was maintained in 2009. It is common for dividends to be maintained when a company suffers a setback, often in an attempt to give reassurance to shareholders.
4.
There are other negative signs apart from stagnant turnover and falling earnings per share. The shareholder will be concerned about experiencing a capital loss in 2009.
5.
He will also be concerned that the decline in the price/earnings ratio in 2009 might be a sign that the market is losing confidence in the future of QSX Co.
6.
If the shareholder was aware of the proposal by the finance director to suspend dividends, he would be even more concerned. It might be argued that, in a semi-strong form-efficient market, the information would remain private. If QSX Co desires to conserve cash because the company is experiencing liquidity problems, however, these problems are likely to become public knowledge fairly quickly, for example through the investigations of capital market analysts.
[image: image7.emf]
(b)
Historical dividend growth rate = (40/37)0·5 – 1 = 0·04 or 4% per year
[1 mark]
Share price using dividend growth model = (40 x 1·04)/(0·1 – 0·04) = 693c or $6·93

[2 marks]
In three years’ time, the present value of the dividends received from the fourth year onwards can be calculated by treating the fourth-year dividend as D1 in the dividend growth model and assuming that the cost of equity remains unchanged at 10% per year. Applying the dividend growth model in this way gives the share price in three years’ time:

Share price = 70/(0·1 – 0·03) = 1,000c or $10·00.
For comparison purposes this share price must be discounted back for three years:

Share price = 0·751 x 10·00 = $7·51.
[3 marks]
Comment on share prices:
1.
The current share price of $6·48 is less than the share price of $6·93 calculated by the dividend growth model, indicating perhaps that the capital market believes that future dividend growth will be less than historic dividend growth.
2.
The share price resulting from the proposed three-year suspension of dividends is higher than the current share price and the share price predicted by the dividend growth model. However, this share price is based on information that is not public and it also relies on future dividends and dividend growth being as predicted. It is very unlikely that a prediction as tentative as this will prove to be accurate.

[1 – 2 marks]
(c)
Practical links between the decision areas:

1.
Investment decisions, dividend decisions and financing decisions have often been called the decision triangle of financial management. The study of financial management is often divided up in accordance with these three decision areas. However, they are not independent decisions, but closely connected.

[1 – 2 marks]
Relevant illustrations:
2.
For example, a decision to increase dividends might lead to a reduction in retained earnings and hence a greater need for external finance in order to meet the requirements of proposed capital investment projects. Similarly, a decision to increase capital investment spending will increase the need for financing, which could be met in part by reducing dividends.
[1 – 2 marks]
M&M and investment and financing decisions:
3.
The question of the relationship between the three decision areas was investigated by Miller and Modigliani. They showed that, if a perfect capital market was assumed, the market value of a company and its weighted average cost of capital (WACC) were independent of its capital structure.
4.
The market value therefore depended on the business risk of the company and not on its financial risk. The investment decision, which determined the operating income of a company, was therefore shown to be important in determining its market value, while the financing decision, given their assumptions, was shown to be not relevant in this context.
5.
In practice, it is recognised that capital structure can affect WACC and hence the market value of the company.

[2 – 3 marks]
M&M and dividend decision:
6.
Miller and Modigliani also investigated the relationship between dividend policy and the share price of a company, i.e. the market value of a company. They showed that, if a perfect capital market was assumed, the share price of a company did not depend on its dividend policy, i.e. the dividend decision was irrelevant to value of the share.
7.
The market value of the company and therefore the wealth of shareholders were shown to be maximised when the company implemented its optimum investment policy, which was to invest in all projects with a positive NPV. The investment decision was therefore shown to be theoretically important with respect to the market value of the company, while the dividend decision was not relevant.

[2 – 3 marks]
Other relevant discussion:
8.
In practice, capital markets are not perfect and a number of other factors become important in discussing the relationship between the three decision areas.
9.
Pecking order theory, for example, suggests that managers do not in practice make financing decisions with the objective of obtaining an optimal capital structure, but on the basis of the convenience and relative cost of different sources of finance. Retained earnings are the preferred source of finance from this perspective, with a resulting pressure for annual dividends to be lower rather than higher.

[1 – 3 marks]
ACCA Marking Scheme
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Answer 6
The approaches to use for valuation are:

(1)
Net asset valuation. 

(2)
DVM. 

(3)
PE ratio valuation.
(1) 
Net asset valuation 

Target is being purchased as a going concern, so realisable values are irrelevant.

	
	$000

	Net assets per accounts $(1,892 – 768)
	1,124

	Adjustment to freehold property $(800 – 460)
	340

	Adjustment to inventory
	(50)

	Valuation
	1,414


(2)
DVM
The average rate of growth in Target’s dividends over the last 4 years is 7.4% on a compound basis.
85 (1+g)4 = 113.1 hence g = 7.4%
The estimated value of Target using the DVM is therefore:
Valuation = 
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 = $1,598,282

(3)
PE ratio valuation
A suitable PE ratio for Target will be based on the PE ratio of Predator as both companies are in the same industry.
PE of Predator = 
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	The adjustments: Downwards by 20% or 0.20, i.e. multiply by 0.80.

(1)
Target is a private company and its shares may be less liquid. 

(2)
Target is a private company and it may have a less detailed compliance environment and therefore may be more risky.


A suitable PE ratio is therefore 15.02 × 0.80 = 12.02
(multiplying by 0.80 results in the 20% reduction).

Target’s PAT + Adjustment for the savings in the director’s remuneration after tax:
$183,000 + ($40,000 × 67%) = $209,800

The estimated value is therefore $209,800 × 12.02 = $2,521,796

Advice to the board

On the basis of its tangible assets the value of Target is $1.4 million, which excludes any value for intangibles.

The dividend valuation gives a value of around $1.6 million.

The earnings based valuation indicates a value of around $2.5 million, which is based on the assumption, that not only will the current earnings be maintained, but that they will increase by the savings in the director’s remuneration.

On the basis of these valuations an offer of around $2 million would appear to be most suitable, however a review of all potential financial gains from the merger is recommended. The directors should, however, be prepared to increase the offer to maximum price.
Answer 7
(a)(i)

Balance sheet value = $454,100.

(a)(ii)

Replacement cost value = $454,100 + $(725,000 – 651,600) + $(550,000 – 515,900) = $561,600

(a)(iii)

Realisable value = $454,100 + $(450,000 – 651,600) + $(570,000 – 515,900) – $14,900 = $291,700
Bad debts are 2% x $745,000 = $14,900. Bad debts are assumed not to be relevant to the statement of financial position and replacement cost values.

(a)(iv)

The dividend growth model value depends on an estimate of growth, which is far from clear given the wide variations in earnings over the five years.

1.
The lowest possible value, assuming zero growth, is as follows.

Value cum div = 
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It is not likely that this will be the basis taken.
2.
Looking at dividend growth over the past five years we have:

2004 dividend = $25,000

2000 dividend = $20,500

If the annual growth rate in dividends is g

(1 + g)4 = 25,000/20,500 = 1.2195

1 + g = 1.0508

g = 0.0508, say 5%

Then, MV cum div = 
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= $400,000
3.
Using the Gordon’s Growth model, we have:

Average proportion retained = 
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 (say b = 0.5)

Return on investment this year = 53,200 / average investment
= 
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= 0.1208 (say r = 12%)

Then g = 0.5 x 12% = 6%
So MV cum div = 
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(a)(v)

P/E ratio model

Comparable quoted companies to Manon have P/E ratios of about 10. Manon is much smaller an being unquoted its P/E ratio would be less than 10, but how much less?

If we take a P/E ratio of 5, we have MV = $53,200 x 5 = $266,000.

If we take a P/E ratio of 10 x 2/3, we have MV = $53,200 x 10 x 2/3 = $354,667.

If we take a P/E ratio of 10, we have MV = $532,000

(b)(i)
The statement of financial position value

The statement of financial position value should not play a part in the negotiation process. Historical costs are not relevant to a decision on the future value of the company.

(b)(ii)

The replacement cost

This gives the cost of setting up a similar business. Since this gives a higher figure than any other valuation in this case, it could show the maximum price for Carmen to offer. There is clearly no goodwill to value.

(b)(iii)

The realizable value
This shows the cash which the shareholders in Manon could get by liquidating the business. It is therefore the minimum price which they would accept.

All the methods (i) to (iii) suffer from the limitation that they do not look at the going concern value of the business as a whole. Methods (iv) and (v) do consider this value. However, the realizable value is of use in assessing the risk attached to the business as a going concern, as it gives the base value if things go wrong and the business has to be abandoned.

(b)(iv)

The dividend model

The figures have been calculated using Manon’s Ke (12%). If (2) or (3) were followed, the value would be the minimum that Manon’s shareholders would accept, as the value in use exceeds scrap value in (iii). The relevance of a dividend valuation to Carmen will depend on whether the current retention and reinvestment policies would be continued. Certainly the value to Carmen should be based on 9% rather than 12%. Both companies are ungeared and in the same risk class so the different required returns must be due to their relative sizes and the fact that Carmen’s shares are more marketable.
One of the main limitations on the dividend growth model is the problem of estimating the future value of g.
(b)(v)

The P/E ratio model

The P/E ratio model is an attempt to get at the value which the market would put on a company like Manon. It does provide an external yardstick, but is a very crude measure. As already stated, P/E ratio which applies to larger quoted companies must be lowered to allow for the size of Manon and the non-marketability of its shares. Another limitation of P/E ratios is that the ratio is very dependent on the expected future growth of the firm. It is therefore not easy to find a P/E ratio of a similar firm. However, in practice the P/E model may well feature in the negotiations over price simply because it is an easily understood yardstick.
(c)

The range within which the purchase price is likely to be agreed will be the minimum price which the shareholders of Manon will accept and the maximum price which the directors of Carmen will pay.

Examining the figures in part (a), the range is $291,700 (realizable value) to $561,600 (replacement cost).
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